X=? | Mixed Equation with Numbers Up to 10000

Name:

|£J
Choose the best answer

Zoe purchases a box of 48 doughnuts.
She divides those doughnuts amongst 8
friends evenly. How many doughnuts
does each friend get?

|£J
Choose the best answer

If Joseph has 48 puppies, and
he adopts 2 puppies, how many
puppies does he have?

62 64

50 38

|£J
Choose the best answer

Students collect water samples from the nearby pond and
are told to count the organisms under a microscope. There
are two types of organisms in the water that the students
collected and they count 17 water bears, and 31 flagellates.
What is the total count of organisms in the sample?

48 61

57 43
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An orchardist has 5 packs of
seeds. Each pack will grow 2
trees. How many trees will
the orchardist have after
planting all the seeds?

trees

@
Choose the best answer

In a habitat of arachnids there are 72
spiders in total, and of those spiders 44
are tarantulas. How many of the spiders

are not tarantulas?

32 37

28 24

@

Archaeologists have recently dug up a bunch of
old stuff! They tell the reporters that they have
dug up 79 old things. Later after using carbon
dating techniques they realize 9 of the things are
new things and aren't that impressive. How
many old things should the archaeologists have
told the reporter they found?

old things
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Brayden hands out 16 slices
of deli meat among 8
customers evenly. How many
slices of deli meat does each
customer get?

slices per customer

|ﬁJ
While camping Jayden and friends ate
65 marshmallows. Upset that they
were out of marshmallows Jayden
went and bought 11 more, which they
ate. How many marshmallows in total
did Jayden and his friends eat?

marshmallows

|ﬁJ
Choose the best answer

Alexander likes exactly 51 grains of salt
on his broccoli. If his older brother adds
32 grains of salt, how much salt is now
on the broccoli?

105 83

82 63

[_Q Me CC.4.84

TeachMe, Inc. ©2025 All rights reserved.

Page 3 of 4



X=? | Mixed Equation with Numbers Up to 10000

Name:

#10

You have counted all the sowbugs in your
basement to a grand total of 63 only to
realize that 56 are actually pillbugs. To

save yourself from counting them all
again, use math to find out how many
sowbugs are in your basement.

sowbugs

#11

Choose the best answer

You have counted all the sowbugs in your basement
to a grand total of 66 only to realize that 11 are
actually pillbugs. To save yourself from counting
them all again, use math to find out how many
sowbugs are in your basement.

44 52

66 55

#12

Choose the best answer

Alexander likes exactly 51 grains of salt
on his broccoli. If his older brother adds
32 grains of salt, how much salt is now
on the broccoli?

105 83

82 63

[_Q Me CC.4.84

TeachMe, Inc. ©2025 All rights reserved.

Page 4 of 4



=? | Mixed Equation with Numbers Up to 10000 Answer Key
Question Answer

#1 6

#2 50
#3 48
#4 10
#5 28
#6 70
#7 2

#8 76
#9 83
#10 7

#11 55
#12 83
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